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1 1/ F=t 2|ILAXKIEYST 8.500 | 8.750 | 9.150 | 26.400 | 1
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AT 3|V AER—YH5T 8.000 | 8550 | 8.250 | 24.800 | 2
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EEEE PN 3|V ARTR—YH5T 7.650 | 8.950 | 8.000 | 24.600 | 3
S5|EEE RIE 3|V RIR—Y 95T 8.750 | 8.850 | 8.100 | 25.700 | 1
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PR |BEE| £ Bl |®F il <y | Bk FE | &% | 85 Bk
6|8 HmiEF Ao AR—Y 55T 7.700 [ 9.000 [ 8.750 | 25.450 | 4

i o [ 7I3R FEH ALAXIKESST 9.600 | 9.700 | 9.100 | 28.400 | T
8iE/K HEK 4ILAREKIEYST 8.200 | 9.250 | 8.850 | 26.300 | 3
o|pkAE BELE 4 LA XEKIEYST 8.700 | 9.150 [ 8.900 | 26.750 | 2

INESEEDER(BF)

PE(#E|BEE| £ Bl |®F T & <y | Bk FE | &% | &5 Bk
10(##H {h1E 5|0 RIR—YH5T 7.550 | 8.550 | 7.700 | 23.800 | 4
11|FAE X5 5|2V RAR—YHI5T 8.800 | 8.650 | 8.250 | 25.700 | 3

1] 12luBE #A 5|01V RIR—YH5T 7.650 | 7.800 | 7.550 | 23.000 | 5
13|MTE 1K 5|¥LIR7ILD7IKESST | 8.300 | 9.000 | 8.750 | 26.050 | 2
14|58 & 5|(LIE 7 IL D 7IKIEH ST 9.000 | 8.850 | 9.300 | 27.150 | 1
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Pi{#E|ES| & Bl |¥F il <vb | Bk F | 8% ¥ 85 |IEk
15(F35 A 6|lLA XAKIEHIST 8.550 | 8.900 | 8.300 | 25.750 | 1
16|KA Z=AB| 6|dLFKERRILIST 8.450 | 8.700 | 8.000 | 25.150 | 2

1| 3| 17[/NBAJIl KIE| 6|PavAREKR—YH5T 7.900 | 8.450 | 8.050 | 24.400 | 4
18[/h A8 BIE 6|1 RIR—YH5T 8.000 | 8.300 | 8.400 | 24.700 | 3
19[S 12 6|V RR—YH5T 0.000 | 0.000 [ 9.000 | 9.000 | 5
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PE[#H &= & w1 [== il P M HAE[ Bk B8 & &5 [Ef
20[(fRE B [F1|DaRKR—YH5T 10.550 11.250 | 9.150 | 30.950 1
5| 21 MA Bt [P RR—YH55T 7.100 9.550 | 6.800 | 23.450 5
22|75 HE |1 FEBIXERRILOST 8.750 10.600 | 7.750 | 27.100 4
1 23| E e |1 FEHXERRILIST 8.700 9.950 | 0.000 | 18.650 7
24|18 = [P |LAX&KigHST 5.000 9.800 | 8.100 | 22.900 6
6| 25| s+ F1 LA XKIEIST 8.700 10.200 | 8.350 | 27.250 3
26|/\IE A |H1|LAXKEYST 9.400 10.400 | 7.850 | 27.650 2
22X D (BEF)
M EE A T Fr & P HAE[ Bk B8 & &5 [EkE
27|lLAR EX  [P2|LAXE&EgSST 9.700 10.900 | 7.750 | 28.350 3
o| 7128 mgE AR [P2|0a RAKR—YH55T 10.550 | 6.100 [10.250 |10.350 | 31.150 2
29|HE FE [P RFR—YH5T 10.450 | 7.200 |[11.300 | 9.600 | 31.350 1
/NI BA |F2|PaRFR—yH5T 9.400 10.000 | 8.700 | 28.100 4
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M EE A T Fr & P | HAE[ Bk B8 & &5 [Ek
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2|5 H EA 5|rmsva=7aws57 [ 9.000 | 9.700 [ 9.950 [11.100 [ 10.950 [ 11.050 | 61.750 | 2

3| 8| 33| FEH& 6|txmva=7wrs57 | 8.000 | 8.750 [ 9.650 |11.200 [ 10.200 [10.35 | 47.800 | 3
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37|/NEFF iF  |Hh2|wmrrorazs57| 9.950 [10.350 | 10.350 [ 11.450 | 10.400 | 9.950 | 62.450 | 1
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1 At FEE [ 1| SavxRKR—yH5T | 7200 | 8750 | 9.000 | 24950 | 4
2 | & Bhi | 1| PavAKR—YHST | 7450 | 9250 | 8900 | 25600 | 2
1113 #b &K [ 1| PaoXRKR—yH5T | 7800 | 9.000 | 9.100 | 25900 | 1
4 | kB #EBE| 1 | PaVRAKR—YHST | 7350 | 8750 | 8950 | 25050 | 3
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INFE2EHEDEN(KF)
S % Hi A il ki | Ttoe | wvh | & & |NEAL
RN TR BF | 2 INPOX2IEAKIESST|  k k k * ¥
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8| MR ¥/ | 3| PavARKR—YH5T k k k * ¥
9| E8 #F#¥ | 3| PavAKR—YHST | 8300 | 8000 | 8800 | 25100 | 5
: 2110 WHE %% | 3| YavAKR—YH5T | 8250 | 8700 | 8700 | 25650 | 3
11 FRE F4& | 3 LAXKEYST 8.050 | 8650 | 8.750 | 25450 | 4
12| @R EE | 3 LAXKEYST 8.050 | 9.150 | 9.200 | 26.400 | 2
3| 13| {kmE ML | 3 LAXKEYST 8350 | 9.750 | 9.100 | 27.200 | 1
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14| IME FEE| 4 |[FLRT7ILTO7KIEHST| 8450 | 8.150 | 8500 | 25.100 | 3
YR P& Y | 4 [FLR7ILD7KIESST| 8250 | 7.600 | 8.000 | 23850 | 4
16| HAch #F | 4 | DaoRKR—y4~5T | 8400 | 8850 | 9.150 | 26.400 | 2
17 @A 7€ | 4 LAXKEYST 8.800 | 9550 | 8.800 | 27.150 | 1
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PI| 48 | &S % Hi A il B | Foe | wvb | & & |IEfs
18| = #E | 5 LARXKEYST 8100 | 6.250 | 8.700 | 23.050 | 13
19| ZE#k BT | 5 LAXKEYST 7.900 | 7400 | 8.000 | 23.300 | 12
4 |20 EE = 5 LAXKEYST 7.650 | 7.150 | 7.800 | 22.600 | 14
21| At #£FEK| 5 LAXKEYST 7.700 | 7.900 | 7.900 | 23500 | 11
22| NI ,.IE | 5 LAXKEYST 8.050 | 7.250 | 8.300 | 23.600 | 10
23| B Bk | 5 LAXKEYST 8500 | 8.950 | 8.300 | 25.750 | 6
24| FHF X | 5 | CarRKR—YH55T k k k * *
2 25| H%E HEW| 5| ParAKR—YHST | 8400 | 7.300 | 8500 | 24200 | 9
26| =F #B | 5| PavAREKR—YH5T | 8800 | 8650 | 9.000 | 26450 | 4
27| ERK BFE | 5 | PavAKR—YHST | 8650 | 9.100 | 9.150 | 26.900 | 3
28| NIl BIRZE| 5 | CavxAKR—yH5T | 9250 | 9550 | 9.300 | 28.100 | 1
29 SH TE 5 | dEEAIRZERNRILSST| 8700 | 8650 | 8.800 | 26.150 | 5
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5| 7138 Al FEFR | 6 [NPoEAZoEAHKIEYST| 8300 | 8.150 | 8.450 | 24.900 | 3
36 | Tt RKD| 6 LAXKEYST 8.250 | 7.750 | 8.000 | 24.000 | 6
37| BEx IJ“EE 6 LARKEYST 8.200 | 7.900 | 8500 | 24600 | 5
38| JEHW BEF | 6 LA XKIEYST 8500 | 8.100 | 8.300 | 24.900 | 3
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3|11 53| {E@E Wy (/N6 |FLIRFILDFIAIRSST| 9.400 | 6.650 | 8.300 | 10.200 | 34550 | 4
54 | UAR EBE |91 |4LR7ILD7AIES2ST| 11500 | 8850 | 11.950 | 11.400 | 43.700 | 1
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1 (| T Fii N2 [#LIRMEGRGYST | &F 1 [2.100 |5.950 | 4.800 | 0.000 || 12.850 4
2 [[BIE ERXR | N2 |wonmsss—svr=—I7n | FEF 2 |3.000 | 6.800 |5.600 | 0.000 || 15.400 2
3 [WE N2 |SiegR.GHS5T EF 3 [2.700 | 7.650 | 6.100 | 0.000 || 16.450 1
4 /NS ibFN N2 [FLIRMEGRGHST | #F 4 |[1.650 | 6.450 | 4.750 | 0.000 || 12.850 4
5 |{BH #EiE N2 |4LIEMEGRGHYST | #F 5 |2.250 | 6.400 | 5.050 | 0.000 || 13.700 3
6 =k VFEY /N3 [FLIRMEGRGHST | & F 1 |1.800 | 6.850 | 3.800 | 0.000 || 12.450 | 12
7 |FE <BH /N3 [SiegR.GHST EF 2 |1.400 | 6.550 | 3.800 | 0.000 || 11.750 || 16
8 [|&€m #= /N3 |SiegR.GHS5T EF 3 [1.850 | 6.900 | 4500 | 0.000 || 13.250 8
9 [|AEF E&RH | /M3 |SiegR.GHYST EF 4 |1.500 | 6.650 | 4.350 | 0.000 || 12.500 | 11
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11 |[#)I FiE N3 |ALIRMEGRGHYST | #F 6 |2.700 | 7.100 | 4.850 | 0.000 || 14.650 1
12 [[FTER  FEk N3 |ALIRMEGRGHYST | #F 7 |2.350 | 7.050 | 5.050 | 0.000 || 14.450 4
13 |[#Ef%E BB N3 [SiegR.GHST EF 8 |[2.200 | 7.050 | 5.250 | 0.000 || 14.500 3
14 [P WETE IN3 [NeoEAzomammssIRG | FETF 9 |1.500 | 6.650 | 4.000 | 0.000 || 12.150 || 14
15 [|EfE EFE /N3 [#LIRMEGRGYST | 4#F | 10 |2.100 | 6.400 | 4.600 | 0.000 || 13.100 || 10
16 [FAR ZiE /N3 |nPomAzomamimssTra | FEF | 11 | 1.350 | 6.600 | 3.950 | 0.000 || 11.900 | 15
17 [|B =D /N3 |SiegR.GH5T #F | 12 |1.850 | 6.700 | 4.750 | 0.000 | 13.300 7
18 [ #& /N3 |SiegR.GHS5T #£F | 13 | 2.150 | 6.650 | 4.400 | 0.000 || 13.200 9
19 [HE& K B | /N3 |wonmssv—svr=—7s| $£F | 14 |2.300 | 6.700 | 4800 | 0.000 || 13.800 5
20 |FEH ZC5 /N3 |SiegR.GHS5T #F | 15 |1.350 | 6.500 | 4.600 | 0.000 || 12.450 || 12
21 |[ K5 FYA /N3 |ALIRMEG.RGYST | #£F | 16 | 1.900 | 6.550 | 5.050 | 0.000 |[ 13.500 6
22 |[BA #b50 /N3 |ALIRMEGRGYSJ | #%F | 17 |2.400 | 7.050 | 5.100 | 0.000 || 14.550 2
23 [F)Il BBk /M [SiegR.GHST EF 1 |2.150 | 6.600 | 5.200 | 0.000 || 13.950 2
24 o409 2%3-B%| /M [SiegRGHST #F 2 [3.050 | 7.700 | 6.050 | 0.000 || 16.800 1
25 |FHHE FE /N4 |SiegR.GHS5T EF 3 |1.450 | 6.850 | 4.600 | 0.000 || 12.900 8
26 [|¥E AR /N4 |neoixazoatiRsSTIRG | FETF 4 |1.550 | 6.450 | 3.300 | 0.000 || 11.300 || 14
27 |BH =k N [FLIRMEGRGYST | #F 5 |1.300 | 5.850 | 3.800 | 0.000 || 10.950 || 15
28 |/hNEr REBZ | /M [SiegRGHST #EF 6 |2.250 | 6.900 | 4.650 | 0.000 || 13.800 3
29 /B EF IMN | ZRR—Y95TZIPRRE| REF 7 |1.600 | 6.650 | 4.850 | 0.000 || 13.100 6
30 ||FET EF ING |NeomAzomsmmssIRG | fETFE 8 |[1.550 | 7.150 | 4.650 | 0.000 || 13.350 4
31 | K& OFY /N4 |SiegR.GHST EF 9 |1.500 | 6.150 | 4550 | 0.000 |[ 12.200 | 11
32 |1EmkE #EEE /N4 [SiegR.GHS5T #£F | 10 | 1.750 | 6.450 | 5.100 | 0.000 || 13.300 5
33 [K:ZF EH /N4 |SiegR.GHST #£F | 11 |1.950 | 6.750 | 4.350 | 0.000 || 13.050 7
4 |EE WME /N [FLBRMEGRGYST | #F | 12 |1.750 | 6.050 | 4.250 | 0.000 || 12.050 || 12
35 [|#hZE AN | /M [SiegRGHZTT #£=F | 13 |1.500 | 6.300 | 3.550 | 0.000 || 11.350 | 13
36 ||[Bff HX ING | ZABE—YHSTZPRRE| $EF | 14 | 2.000 | 6.800 | 3.950 | 0.000 [| 12.750 9
37 ||HME F0ZE /M |SiegRGYST #£F | 15 |1.850 | 6.550 | 4.000 | 0.000 [| 12.400 || 10
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38 Ex [ /3 [E A—JL] 1 [1.800 [4.800 [ 4550 [ 0.000 |[ 11.150 1
| 39 |/ #E INS wormrsv—rvrz—ven | 5T | 2 10.800 | 3.850 | 3.650 | 0.000 || 8.300 2
40 [RFT &= /N4 TALBERMEG.RGZSJ [/R—)L] 1 [2.900 [5.600 [ 5.050 | 0.000 || 13.550 1
M |EH RE IV weorgose—rvrz—oen [ AR—)L| 2 1 0.300 | 3.800 | 2.550 | 0.000 || 6.650 12
42 |[hFt 1K= N [#LIRMEG.RGYST | AR—)L| 3 [2.300 | 4950 | 4.400 | 0.000 || 11.650 4
43 |[B)Il 28 IN4 [NposazoiEammssTRa | FR— )L [ 4 | 1.400 | 4.800 | 4.200 | 0.000 [| 10.400 5
44 (B 2Rk /I [#LIRMEG.RGZST | AR—)L| 5 [1.900 | 3.650 | 2.500 | 0.000 || 8.050 9
45 (|H D N [FLRMEG.RGHZST | /R—JL| 6 | 3.200 | 5.050 | 4.850 | 0.000 || 13.100 2
46 |dbll & ING |weormsss—svrz—sen | 57 | 7 ]10.800 | 4150 | 2.750 | 0.000 [| 7.700 10
47 |)ky B /7 |SiegR.GHS5T 252 | 8 [2700 | 5.150 | 4900 | 0.000 || 12.750 3
48 |#2iF &8 I\ [SiegR.GHSD 4252 | 9 [1.400 | 4.300 | 3.200 | 0.000 || 8.900 8
49 | FiFE I\ [SiegR.GHSD 4252 | 10 [2.200 | 4450 | 3.150 | 0.000 || 9.800 6
50 :ﬂ:JII e N [FRMEG.RGHZST | 57 | 11 | 2.000 | 4250 | 2.950 | 0.000 [| 9.200 7
51 |&H A I weorgssv—rvrz—oen | 57 | 12 10.700 | 4.000 | 2.400 | 0.000 || 7.100 11
52 [/h#&% TFHF0 /N5 [SiegR.GH5D 7—_J ] 1 [1.900 [ 4650 [2.200 | 0.000 |[ 8.750 9
53 [IBATER LMK /N5 [#LIRMEG.RGZST | 72— | 2 [1.700 | 4750 | 2.900 | 0.000 || 9.350 6
54 (/NER St /N5 [SiegR.GHS5T 72—J | 3 2100 | 4750 | 4650 | 0.000 || 11.500 2
55 |[KFE KF IN5 [Neoasomammssire [ R—)L| 4 [ 2.700 | 5.100 | 4.800 | 0.000 || 12.600 1
56 [k [5ZE /N5 |[HOKUSEI%R.G. [R—JL] 5 |2400 | 4500 | 3.700 | 0.000 || 10.600 4
57 [(EH BE% N5 [#LIRMEGRGYST [AR—JL] 6 [0.300 | 3.950 | 3.300 | 0.000 || 7.550 16
58 |[EH _#Fi /N5 [HOKUSEI*xR.G. |AR—)L| 7 [2.700 | 4250 | 4.300 | 0.000 || 11.250 3
59 K+ #FiE /N5 |nPomAzoEakigssTra [ FR—)L | 8 | 0.900 | 4500 | 2.850 | 0.000 |[ 8.250 10
60 ||BH =iFE ING [weormssy—svrz—gsn | FR—)L[ 9 | 1.800 | 4.800 | 3.200 | 0.000 [| 9.800 5
61 ([NHE E3 N5 [#LBRMEGRGYST [ AR—JL| 10 [0.300 | 3.950 | 3.550 | 0.000 || 7.800 12
62 [LLE EE IN5 [Neomasomammssre | R—)L| 11 | 1.200 | 4.050 | 3.800 | 0.000 || 9.050 8
63 [|[fFE =<5 /N5 [SiegR.GHSD 4257 | 12 0600 | 4050 | 3.350 | 0.000 |[ 8.000 11
64 [Frrh B IN5 [SiegR.GHSD 4257 | 13 [0.800 | 4.700 | 3.700 | 0.000 |[ 9.200 7
65 |[BEE HiF /N5 [SiegR.GHSD 4257 | 14 [0.800 | 3.900 | 2.700 | 0.000 || 7.400 17
66 |[frfZf EBFIZE | /N5 [SiegRGHYTT 4252 | 15 [0.300 | 3.350 | 2.500 | 0.000 || 6.150 20
67 |ARE #7E | /5 [SiegRGIFT 4257 | 16 [0.800 | 4.200 | 2.100 | 0.000 |[ 7.100 19
68 |/NEIR MR [ /5 [SiegR.GUST 4257 | 17 [0.700 | 4050 | 2.400 | 0.000 |[ 7.150 18
69 |[}aE EH /N5 |SiegR.GHS5T 4252 | 18 [0.800 | 4.300 | 2.500 | 0.000 || 7.600 15
70 |[Ha E= IN5 [SiegR.GHSD 4257 |1 19 [0.700 | 4450 | 2.650 | 0.000 || 7.800 12
| 71 |IBAER /75 [SiegR.GHS5T £S5 | 20 [1.200 | 4.000 | 2.500 | 0.000 | 7.700 14
AT S N6 [HE 7—_J ] 1 [1.300 | 4050 |3.700 | 0.000 | 9.050 6
73 |/ME FEiD /6 [HOKUSEIXR.G. | 7—Z ] 2 [0.700 | 2.600 | 2.600 | 0.000 | 5.900 8
74 B BHTE /6 |SiegR.GHS5T 72— | 3 |2300 | 4700 | 5.650 | 0.000 | 12.650 1
75 [ BUE /6 [HOKUSEI%XR.G. | 72— ] 4 [0300 | 2300 |3.200 | 0.000 | 5.800 9
76 |[7kE ZHE /6 |#LIEMEG.RGZSD| 72— | 5 |1.800 | 4050 | 3.350 | 0.000 [ 9.200 5
77 |24 &E /N6 [SiegR.GHSD HA—JL| 6 [1.400 | 3550 | 5.250 | 0.000 | 10.200 2
78 |BEH+ #TEHI | /M6 [SiegRGHYTT AR—JL| 7 [1.200 |3.900 | 4700 | 0.000 | 9.800 3
79 [|hofE mEE /6 |SiegR.GHS5T A—J)L| 8 [1.100 | 3.200 | 5.150 | 0.000 | 9.450 4
80 MR ¥ ING |RA—vHS5TzPRRE| AR—)L | 9 | 0.400 | 2.500 | 3.450 | 0.000 [ 6.350 7
81 [|FE =H /N6 [SiegR.GHSD FA—JL| 10 [0.200 | 2.650 | 3.250 | 0.600 | 5.500 10
82 |&F Kk 6 [#LIRMEGRGHST | YR | 11 (0400 | 2550 | 2.400 | 0.000 | 5.350 11
83 |iBEX £ /N6 |#LIEMEG.RGYST [ YR [ 12 [0.100 | 2.200 | 1.950 | 0.000 | 4.250 12
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100(|fr[ER AE | /N3 [#LIRMEG.RGHSD||4EF|2.950 |6.950 |5.600 [0.000 | 15.500 |[—sv|2.700 [4.000 |2.000 |0.650 | 8.050 || 23.550 || 1

101 || B8 /ZTE | /N3 |wonwsss—ivr=—37 || F5[ 2.300 [7.000 [5.200 [0.000 | 14.500 |[~57[0.900 [4.150 [1.700 |0.000 | 6.750 || 21.250 | 2

[102|[BF]_ 2% [/M[RR—v557zPRRz|[Z—]1.900 [3.400 [4.000 [0.600 | 8.700 |[#57]1.500 [3.750 [4.250 [0.000 | 9.500 ][ 18.200 | 1 |
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